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Scientists studied the animals and plants in a farge woad, over a period of time.
One food chain in the wood is shown below.

oak trees —r winter moth caterpiliars —» great tits —F sparrowhawks

In the space below, draw a pyramid of numbers for this food chain.

(b  Insecticide was sprayed onto fields near the wood, Some of the insecticide was
blown into the wood by the wind.

() Inthe food chain above, the sparrowhawks contained the highest
concentration of insecticide.
Explain why.

The use of insecticides could cause the population of sparrowhawks to
decrease,

Give one other reason why the pepufation of sparrowhawks might
decrease.
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